War Worksheet Answer Key

The students should be familiar with the following concepts to be able to complete this worksheet:

· Classes and Objects  

· Inheritance
· Reusability

· ArrayLists

· Switch/Case Statements

They should be able to examine the code for the War game as well as the War class diagram.  Emphasize that in questions 13 and 14 there is no wrong answer, and that the modifications suggested should be small.
Answers:

Details:

1.  Sixteen CardPiles.  There are two Players; each Player has five CardPiles that constitute their hand, plus a Won pile, a Draw pile, and a Gamble pile.
2.  There are five cards in a player’s hand.
3.  War
4.  “2 of Clubs”
5.  The code to be executed for cases 2-10 is the same.  When several cases in a row require the same code to be executed, it is easier to allow the cases to “fall-through” to the next non-empty case instead of writing the same lines over and over.
6.  Yes.  The cards’ ranks are compared in War to determine the winner of the round.

7.  No.  The cards’ suits are not compared in War, because suits do not matter in War.
8.  The Player’s Won pile is shuffled and replaces the Draw pile.

9.  A random number is generated between 0 and 4 and used as an index to select a card out of the computer player’s hand.


Concepts:

10. CardPile.  Because the Deck is really just a specific type of CardPile, it should inherit from CardPile.
11. Two, Card and CardPile.  There are really two classes in the original War design that can be reused by other card games.  They are Card and CardPile.

12.  The method would be in the CardPile class.  It would take in one parameter: a CardPile.  It would return void.  The cards from the given CardPile would be added to the cards from the CardPile where the method is being called.
13. This question is a good chance for the student to be creative.  It is really an exercise for them to think of some small change they would like to make.  It doesn’t even have to improve the game.  For example, they could suggest that the winning card in a round is the low card.  Or that the cards in the player’s hand are face up before the player selects one to be played.

14. The answer depends on the modification they chose to make.  For one of our examples, making the winning card the low card:


In War.compareCards(), the method would simply have to be modified to reflect that the winning card would now be the card of lower rank.  So the only class that had to be modified is War and the only method modified is compareCards().
